POWER RULE EXTRA PRACTICE

| Simplify: (3% * 42)°

Show your work.

Which expression is equivalent to

A 7
B 7¢

c 7
D 7'¢

!72)5 7
7—5

Is the statement (10°)(4°) = 14° true? Explain your

reasoning.

4573,
45%

Simplify: (7°)°. Write your answer using an exponent.

What is the value of x in the equation (5)° = 5%? Explain.

Complete the table.

Expression

Simplified Expression

10*- 1072

5%.

(2? . 4}’)3




1. Which shows 5" in standard form?

A. 20
B. 625
C. 1,024
D. 3,125

2. Which is 6> X 6' in exponential form?

A. 36"
B. 7°
C 613
D. ¢

Which shows 4° + 4’ in standard form?

A. 0
B. 1
C. 4
D. 16

Which shows 277 X 2° in exponential
form?

A 2

B. 27"

C 27

D. 2

Which shows 6 + 6" in exponential

form?
A 6~
B. 6°
C. 6
D. €
Look at the expression below.
W & + 4
A A. Simplify the expression. Show your work.
B. 117
c. 11°
p Which expression is equivalent to
D. 11 8% x 87
A (8Y C. 64"
B. 8°+8 D. 64"

What is the value of the expression
(127)* X 127

A. 0 c. 12"
B. 12 D. 144"

'Which expression is equivalent to
5 + 57

1
e (5 X 5)
(5 X 4)
B. (5% 2)
(4 X 4 X 4 X 4 X 4)

2X2X2X2X2)
D. 5X5

C.




Which expression is equivalent to (3g)"?
A. 3¢

B. 3'X g4
C. 3'+ g4
D. 12¢

12¢

Which expression is equivalent to
977X 97

A (-1DO’%9)

B. 9+97

c. 97

D. 9°+9

Robert says that 11° + 11° is equal to 1.
Jasmine says that 1172+ 11%isequal to 1. supPOn o

’ wers [©
A. Explain who is correct. Use the propertics of pO

. to explain
rties of pOWers 19
B. Simplify the expression that is not equal to 1. Use the pl;op¢_ in exponential form_
. c -
h::rpyim simplified the expression. The expression ¢a1

/_\
////_-\
/\

i - t the value
C. Given the expression (171)3, what number can you substitute for a so tha of

the expression is 12 Explain your answer using the properties of powers.




. Circle the expression that makes each equation true.

Select True or False for each equation.

A. 42+4" =4 O True O False
B. (3%’ =3" O True O False
C. 72x7P=7 O True O False

Circle every expression that is equivalent to 7"
A 7’x7

B. 7'x7

C. 7°+7

D. (7}

E (7Y




Simplify the expression. Write your answer as a power.

1220 ?_613

1. = y S
12° 7.6°
_915 —8‘5”

3. )“ A ( )m
(=9) (-8.5)
M33 R.Q

5. 6.
~1000)" 21

7, E1000) 8.
(~1000) !

9. One kilometer equals 10° meters. One terameter equals 10'> meters. How
many times larger is a terameter than a kilometer?

Simplify the expression. Write your answer as a power.

117 & 110 " 25% 0253
Tl e 112 " 25e25%
(-7.9)° o (-7.9)’ b b
12 B 7 13 T{] L T
(79 ¢ (-79) b b

Simplify the expression.

14 48 ° m? ° n4 15 ,"12 ° S? e I‘}
. 4 e m? . 9 e 3
16 plgqll 17 35a1?b21
' 10 8 * 34 ISbIE
P'q a

Find the value of x in the equation without evaluating the power.

7 12 x
18. 37 = 729 19. 22# = 32



21.) (2%)° 22.) (10°)°

23.) (-32x%)° 24.) (77*)
25.) (8n°p)° 26.) 2(3a*)’
27.) (o) ()’ 28.) [2:}

29.) { 3% J 30.) [ 3"2]
2}!“ 4x°




